2047 AorB X KER (A+B)/XI XH A
= Xl
th;' b o1 = (ki) 2 04 = (k) HI S (%)
ek 24.95 65.02 267 24
15.05
25.02
P ENE 460 | 37.04 121 31
HA&H1=S 1.03
HAH2E 1.66
NES 5.91
B 0.93
ERS 3.58
ERE 1.29
I&s 8.67
s 10.27
= 206 | 296 142 79
ss 12.44 66.55
=231 5.86
S=o= 3.45
RS 6.79
ANES 13.46
NES 5.02
2= 18.11
BHE1= 1.42
P 1269 | 12.69 36 35
35.15 281.52 453 78
2.56
7.97
6.45
28.66
32.43
5.02
8.16
52.51
56.70
45 .91
ANEHHA 28.68 72.83
== 717
A= 1.59
ME2S 0.69
NN 0.66
NPHA 34.04
sS&S 16.59 165.42 591 28
A= 12.16
NES 6.70
EE 15.89
Sas 12.48
SE=S 13.62
olsH™ 75.64
=N2S 2.44
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Uit 2 SH2S AorB A+B X AHA (A+B)/XI XAl
M5 FENA | FENS | ERD | emem | seme | sso)
) ®)
S S 16.05
SA2SE 10.74
MNB1S 2.55
=== 2.83
OJEE1E 1.23
OHE2=S 2.48
O|HE3= 0.72
2= 11.78
P RCIE== 8.94
SH1sE 6.58
SRS 419
=g HIHHA 40.80 207.05 207.05 458 45
AES 49 .81
0ot 50.68
NES 65.76
It= ZHEX 65.44 672.56 672.56 673 100
wols 57.85
ZLHH 43.51
=21 18.90
=2 4.98
=1 47.39
HAS 71.12
2=E0H 26.83
PN 33.68
MHH 88.95
Xels 27.45
NEH 43.07
&N S 9.22
Eta ™ 60.11
=5 32.22
IEAH 41.84
2= =HE=H 48.57 82.30 82.30 431 19
=EH 33.73
ot A== 15.13 75.95 75.95 93 82
EE1=s 1.01
AME S 0.24
MNE2S 5.20
M= 33.85
=0|l= 6.02
=2= 14.50
el = 280 48.48 300.24 300.24 310 97
=Ho 36.54
ELPAES 41 .41
AF1= 23.63
AF2ES 19.52
=23H 34.57
M= 63.44
EIPSRES 0.54
SH2E 11.16
EIPSKES 3.81
I PSPR= 17.14
s5& BAtsS 13.68 95.66 95.66 96 100
== 38.89




UIEl 2 2 SH2S AorB A+B X AHA (A+B)/XI XAl
ZER FERIS | (k)

PR (k) | SIE(a) | ZE (k) HIS(%)
(A) (B) =
AT S 8.05
MOA1S 2.16
MAD S 0.72
ARS 31.31
EAES 0.85




